[bookmark: _GoBack]Daily Practice – 34
1) 670.09 + 789.34 =
2) 489,164 – 200,147 =
3) 425 x 24 =
4) 3,577 ÷ 7 = 
5) What’s larger:  or 
6) 3.567 x 1,000 = 
7) 7 x 3 - 4 = 
8) 3.8km = _____ metres
Daily Practice – 33
1) 465,791 + 663,344 =
2) 489.3 – 146.3 =
3) 46 x 37 =
4) 1,944 ÷ 6 = 
5)  -  = 
6) 978.36 ÷ 100 = 
7) 13 + k + k = 31         k = ?
8) 29mm = _____ cm
Daily Practice – 32
1) 318.46 + 249.11 =
2) 5,680 – 1,469 =
3) 212 x 39 =
4) 12,470 ÷ 5 = 
5)  +  = 
6) 14.314 x 100 = 
7) 1  as an improper fraction:
8) 7190 ml = _____ litres
Daily Practice – 31
1) 809,256 + 326,009 =
2) 156.03 – 78.45 =
3) 33 x 67 =
4) 7,492 ÷ 4 = 
5) What’s larger:  or 
6) 1,789.3 ÷ 1,000 = 
7)  as a mixed number
8) 1.9 litres = _____ ml
Daily Practice – 30
1) 578.24 + 189.27 =
2) 68,703 – 55,469 =
3) 135 x 74 =
4) 5,982 ÷ 3 = 
5)  +  = 
6) 6782 x 10 =
7)  1 + 8 x 3 = 
8) 364g = _____ kg
Daily Practice – 29
1) 147,843 + 417,891 =
2) 947.35 – 168.24 =
3) 54 x 23 =
4) 4,792 ÷ 2 = 
5)  -  = 
6) 47.14 ÷ 10 = 
7) 55 ÷ b = 5 		b = ? 
8) 13.6 metres = _____ cm
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